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Metric Measurements
1 centimetre (cm) = 10 millimetres (mm)
1 metre (m) = 100 centimetres
1 kilometre (km) = 1000 metres

1 kilogram (kg) = 1000 grams (g)
1 tonne = 1000 kilograms
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December 31 Days

Right Hand Knuckles

Straight line = 180°

Angles inside a triangle equal 180°
Around a point = 360°

Degrees inside a circle = 360°

Degrees inside foursided shape = 360°

Acute angle is Smaller than 90°

1 litre (1) = 1000 millilitres (ml)
1 litre = 1000cm=2
1cm3 = 1 millilitres

Conversion: Decimal Point Moves

Multiplying by 10 2" x
Multiplying by 100@@
Multiplying by 1ooowww

Right Angle is Exactly 90°
Obtuse Angle Between 90° and 180°
Straight Line equals Exactly 180°

Reflex angle is Bigger than 180°
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Cube Cylinder Rectangular
) Prism Cone Square based
A toblerone box is Pyramid Sphere
a triangular prism ©
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Triangular prism

FACES - Flat sides
EDGES - Where two faces meet
VERTICES - Where three or more sides meet (corners)
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